@B 55 PHNSFEHESEFFRABRZ—MRIFAFHEICOVLT
SHEFAA1A~HH6E3A31H

S5 FERRBRE—BREFTER) B
BoE R B | ¥ HENEETESE b ® 1 =
A 2 % 445,000 400,000 45,000|%r A% 89.A x 5,000/

R & = 570,000 535,000 35,000|#34% 4%  114A x 5,000/
2 8 2 1,600,000 1,500,000 100,000(2,000/9 x 800 A
BESESUN=ION 180,000 200,000 A 20,000 | = 542088 — 42PN

. RIEERESE 1,795,588 1,900,000/ A 104,412
MO A 19,412 30,000 A 10588|EeH 8 - £E@RE
IRAEE 4,610,000 4,565,000 45,000

LREESE 1,600,000 1,600,000 0 %25:'\/?\%& (EOR) - RERA )
f-hn = BEE
= FE-AFER 300,000
" EEZELE 300,000 300,000 onyi b %%]—
% s mme 00000m
& - i FERRS ,
5 ZELE 780,000 540,000 440,000 IR &R RENEL 100,000/
ZSEEIERE 500,000
X WIEEBLE 150,000 100,000 50,000 [ &E E &ty
N 2,830,000 2,340,000 490,000
B 5 B 50,000 70,000 A 20,000[iz7ntx - gFEE
h - 70,000 80,000 A 10,000|5R - 5% - LB & O, BERE
NI 30,000 30,000 0
Bl = B B 70,000 70,000 O|BS - Bk - EBALE
2 B & B 40,000 50,000 A 10,000
& | HeEms 10,000 10,000 0| &SRR
i = 140,000 140,000 O|EEmiARS - EERARS - EBKAS
B o % 800,000 950,000| A 150,000|4%04 FEBMES $91/248
N 1,210,000 1,400,000 A 190,000
S 570,000 425,000 145,000
XA 4,610,000 4,165,000 445,000
KEEFHE 0 400,000
HwEE 4,610,000 4,565,000 45,000
S EERRBREESTES B
B oE & B ¥ B B | AEETESE Lo w =
BEH B 0 0 0

R | BIEERES 7,235,000 6,285,000 950,000|H29.3.10~R5.3.23 544

Al B 1z & 800,000 950,000| A 150,000|SFI4FEEHE D1/248Y
R A & § 8,035,000 7,235,000 800,000

53

Hl X H & % 0 0 0

LEKRUERS 8,035,000 7,235,000 800,000




	Sheet1

